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2N
X ZH -
L= B

el

Foel=e YN
B2 HECA JWEA
ZEA x4

- _ _ RE]

SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
206 M = Hl 2,150 3,400 A 1,250
01 X2 H| 2,150 3,400 A 1,250

=A@ A YN &Y 1,000
OYessET 100,000& * 58tA 500
OLYExE 100,000& = 58 500
OL=ZAANE IJIXM 1,150
Of2ZM+=S 3,000 * 300H 900
OMsY 2,500& * 1004 250

Q4 L IIEER 2 32,120 31,570 550
201 et 10,120 9,570 550
02 232 H4| 10,120 9,570 550

OGPSEHZL I OISES AMER=2
14,500& = 5501 = 12& 9,570
OGPSEH LD A& & HI S XY 10,0002 = 5504 550
207 A O 4| 22,000 22,000 0
01 s AH| 22,000 22,000 0
OJESAM=EHEXNE NEE-H HA DA
22,000,000& * 13| 22,000

2 ZOfA AL 565,242 386,422 178,820
401 Al HI L 2 0HHI 565,242 386,422 178,820
01 Al&H| 561,703 383,659 178,044

OFZMAAMI(XIEHH) 561,703,000 561,703
03 AlE 201 Y| 3,539 2,763 776
OFZMLAAMNI(XEHH)
561,703,000 = 0.63% 3,539

O AL AP & 22| 4,780 0 4,780
201 Bt 4,780 0 4,780
01 AP 22| H| 4,780 0 4,780

O2=0lKY =2HA =2
43,000 * QA * 133 * 95% 4,780
QEPSMACGT VENBAL &1 - 2Y 7,948,000 4,967,142 2,980,858
= 5,564,000
Al 2,384,000
403 XX SHHMS X201 A 7,948,000 4,967,142 2,980,858
= 5,564,000
Al 2,384,000
02 Z2I)|2S0UeHI =X E A HI 7,948,000 4,967,142 2,980,858
OQEFUSHMALCLL 2= HFAIE EX
7,948,000,000& 7,948,000
= 5,564,000
Al 2,384,000
HFUOAACT] S MEAE X - 29 5,620,000 714,285 4,905,715




2N
X ZH -
L= B

el

s BAFHY
HHA BECA JYEH
BACA X4

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 3,934,000
Al 1,686,000
403 XX SHHS K20 & 5,620,000 714,285 4,905,715
= 3,934,000
Al 1,686,000
02 Z2I)|&ES0USHA=X 2 EFAS HI 5,620,000 714,285 4,905,715
OFFULAMACT 2FSMSAIE &
5,620,000,000& 5,620,000
= 3,934,000
Al 1,686,000
SCAMHCT] 2FSHFALE X - 29 1,182,000 714,285 467,715
= 828,000
Al 354,000
403 XX SHS K20 & 1,182,000 714,285 467,715
= 828,000
Al 354,000
02 2SO UsHA =X EFAS HI 1,182,000 714,285 467,715
OB M 2ESMHMIBAIE &X
1,182,000,000& 1,182,000
= 828,000
Al 354,000
QEM2MALR S HFAIE X - 2E 714,000 0 714,000
= 500,000
Al 214,000
403 XX SHS K20 & 714,000 0 714,000
= 500,000
Al 214,000
02 2SS =X EFAS HI 714,000 0 714,000
OLLEM2MAR 2SS HFAIE &
714,000,000& 714,000
= 500,000
Al 214,000
SAMACHT] S HEAIE X - 29 714,000 0 714,000
= 500,000
Al 214,000
403 XAIXISHHMS K201 A 714,000 0 714,000
= 500,000
Al 214,000
02 2| 2SO UeHI =X EA HI 714,000 0 714,000
OSMAAC SABHBAL &X
714,000,000& 714,000
= 500,000
Al 214,000
CEMYEUYSIEI ASHEAIE X - 24 714,000 0 714,000
= 500,000
Al 214,000
403 XX SRS K20 & 714,000 0 714,000
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SN BFBRRS HFFHD
& p

M MEY BEEA JUEA
gl BFEA x4 (el &)
5 - 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 AIZH =X 2= X H| 15,000 17,000 A 2,000
OStHAAEM HR=EX 9,000,000 9,000
oY o Y AL =7
6,000,000 6,000
XA BE0ls MEHEZ A 28 2,491,384 2,706,505 A215,121
= 647,012
J| 101,250
= 258,354
Al 1,484,768
=M5E2H MES 595,260 601,555 AN6,295
StAMEfWNE 45 97,000 100,000 A 3,000
307 2iztol A 97,000 100,000 A 3,000
02 QIZIA AAIE E X 97,000 100,000 A 3,000
OSIME} MEZ2)H 2H
100,000,000 = 1JOHA * 97% 97,000
HE 2N 2 2E2E9A 29 498,260 501,555 N 3,295
307 2iz2tol & 487,260 484,400 2,860
05 QIZtR &2 487,260 484,400 2,860
OFHFZ2MHZSELA 2A22Y /A2
487,260,000& 487,260
401 AlEHIZL 201 Y| 11,000 14,155 AN 3,155
01 Al&H| 11,000 14,155 N3, 155
OFF=Z2HMUZSEAA S22l 11,000
OXet&asd 8 11,000,000& 11,000
MENC Al E#HXH 1,896,124 2,104,950 N 208,826
= 647,012
J| 101,250
o= 258,354
Al 889,508
KHHAMEN S X ALY AlLA| 3,650 3,710 A 60
201 et d| 2,650 2,710 A 60
01 AR 22l ] 1,150 1,210 A 60
OXNHMENBEAEES F&X 1,150
(@)= 70,0008 *« 13JHA * 95% 865
o8 8¢ 300 * 1,0000H * 95% 285
02 2224 4| 1,500 1,500 0
(OFSPIPNT=PNEPNE=Fu R=1a.]! 1,500,000 = 1CH 1,500
206 M = dl 1,000 1,000 0
01 X2 bl 1,000 1,000 0
OXNHAMEIBXEES &D| 1,000,000& = 13 1,000
ANoAstdE8des I 34,565 38,400 N 3,835




2N
X ZH -
L= B

el

0z >4 rto

EECIEE I
oD TESE MEIGA P
BEAl 82 ZH

- _ _ RE]

SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 2,565 5,500 N2,935
01 AP 22| H| 2,565 5,500 N 2,935

OSAZ2X72H OtLHE A HI
500,000 * 2904 * 95% 950
ORAIZX TS oy &40
70,000 * 109HA * 95% 665
OXNAHAEBHABENKRZEXNE HEZTY
100,000& = 1000 * 95% 950
301 LBt A= 2,900 2,900 0
09 HAIAHI X & 2 2,900 2,900 0
OXNHEtAEAN HUKXNER WEI AHBEAZS 2,900
OAN W= 70,000 * 20¥ » 1< 1,400
OsdN=x 50,000& = 10¥ = 3¢ 1,500
307 2iz2to| A 29,100 30,000 A 900
02 QIZIA AAIE E X 29,100 30,000 A 900
OXNAEBAE M ALS 20,000,000& * 97% 19,400
OMENHE XA 10,000,000 * 97% 9,700
SIS & 112,500 85,000 27,500
J| 101,250
= 2,250
Al 9,000
301 et A= 112,500 85,000 27,500
D] 101,250
o 2,250
Al 9,000
01 Al E & A 462 112,500 85,000 27,500
oAMdHIo AEX 2H 20 112,500,000 112,500
J| 101,250
=} 2,250
Al 9,000
SdOIEXMel A& 1,170,180 924,600 245,580
= 585,090
= 175,527
Al 409,563
402 SI2F X0l & 1,170,180 924,600 245,580
= 585,090
& 175,527
Al 409,563
03 12t EF A HI 1,170,180 924,600 245,580
OZd0E MelArg K& 1,007,920,000& 1,007,920
= 503,960
= 151,188
Al 352,772
OZdH0lE HEAY XA 162,260,000 162,260
= 81,130




SN BEBRS HEEAY
M AL SEGH=E HEHEA 2E
©e MEHEAl 33X Y (&)
= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 24,339
Al 56,791
s - AlE Esgf A 92,245 84,050 8,195
101 @14 Hl 51,680 48,350 3,330
04 JIZHHZ2XNHEE S 51,680 48,350 3,330
OotM=E= E5& B 46,744
ool 74,9108 = 8 * 26€ « 3& 46,744
o4UE" RE=3 4,936
O=ggd= 46,744 ,0008 = 4.5% 2,104
(OFaR=g-)= 46,744 ,000& = 3.23% 1,510
OEIQYEH 1,510,000& * 8.51% 129
(ONE=-h= 46,744 ,000& * 1.5% 702
OMTHEH 46,744,000& = 1.05% 491
201 -4 2,565 2,700 A 135
01 At 22l 2,565 2,700 A 135
OOMEAS &5 oL B4
70,000 * 10JH2 = 95% 665
ORMNOIES=E 2L S22 MH
100& = 10,00000 = 95% 950
O0MESE Hol2&4MARRS =&
100,000& = 5 = 23| * 95% 950
206 = Hl 8,000 8,000 0
01 =4l 8,000 8,000 0
OMsS=E X &I 8,000
O22t012 48 2,000,000& 2,000
ORdotMsE EXLEOITHM S)
50,000& = 1004 5,000
O0dsE =0l 200,000& * 53 1,000
301 LeIEBAF 30,000 25,000 5,000
12JIE243 30,000 25,000 5,000
OOtM=sS=E 7R AUEH 30,000
O = dgf e 50,000& * 540 27,000
Oss = 4ddH 0O 2AH 25,000& = 120A 3,000
Or2 == IIl off Ol & A 193,844 176,000 17,844
= 61,922
< 18,577
Al 113,345
402 2I2H X201 M 193,844 176,000 17,844
= 61,922
< 18,577
Al 113,345
01 2I2F 2 A B (RERTH ) 70,000 70,000 0




SN BFeRS MY
M AL SEGH=E HEHEA 2E
el MEICAl BIREA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
MES THMLAIE AXI(FIAH])
70,000,000& 70,000
02 QI EAILSEZ (01X S) 123,844 106,000 17,844
M= HIHMYAE &X 123,844,000 123,844
= 61,922
< 18,577
Al 43,345
Ot == Ilof ol & 2,400 2,400 0
201 23l 2,400 2,400 0
02 2gl 2,400 2,400 0
ME=2 IIsHoe EXII sX2eld]
50,000& = 4CH = 12& 2,400
OrM=2 o 24 80,000 80,000 0
< 24,000
Al 56,000
301 283 80,000 80,000 0
< 24,000
Al 56,000
12 JIE 24 = 80,000 80,000 0
OOt =S=0ll 28 IloHE & 80,000,000& 80,000
< 24,000
Al 56,000
OfMES2 O Xe X 149,750 150,000 A 250
= 18,000
Al 131,750
201 2dl 18,750 19,000 A 250
01 2 el bl 4,750 5,000 A 250
ot =S Z& olHEXl
250% * 20,00008 * 95% 4,750
02 234l 14,000 14,000 0
M= Ol B2 14,000,000 14,000
206 gl 6,000 6,000 0
01 gl 6,000 6,000 0
SHEXE AEE 9I=ES 6,000,000& 6,000
301 B8z 125,000 125,000 0
< 18,000
Al 107,000
12 JIE243 125,000 125,000 0
MEE ZESBAS(FIHAH])
65,000,000& 65,000
M= ZEENS 60,000,000& 60,000
= 18,000
Al 42,000
HEHHwe M= EX 50,700 50,700 0




SN BEBRS HEEAY
M AL SEGH=E HEHEA 2E
el MEICAl BIREA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 20,000
Al 30,700
101 @144 dl 20,000 20,000 0
< 8,000
Al 12,000
04 JIZHHZ2XREES 20,000 20,000 0
OMEfHWE M2 EX 20,000,000& 20,000
< 8,000
Al 12,000
206 = Hl 700 700 0
01 MHZ 4l 700 700 0
oL 2 55 700,000& 700
401 Al HI R 2018 30,000 30,000 0
< 12,000
Al 18,000
01 A& HI 30,000 30,000 0
OMEfHWE M2 EX 30,000, 000& 30,000
< 12,000
Al 18,000
SSHEY 32 2 N 6,290 10,090 A 3,800
201 Lt 6,290 10,090 A 3,800
01 At 22l 5,700 9,500 A 3,800
O=x=MA Olsaztaa S
6,000,000& * 1A = 95% 5,700
02 2324l 590 590 0
Ogt=3st & EZ3E 2l 500,000& = 13l 500
O=HMNA OlsAastdZa Fatx FHaH
30,000& = 33l 90
HYIZH (HF el SF3FH) 381,624 366, 185 15,439
erE 2l 312,026 291,301 20,725
oI 24| 312,026 291,301 20,725
101 124 dl 312,026 291,301 20,725
01 2= 264,827 266,998 22,171
OAAS 224G (UBHE)
10,5093 = 70Y = 30AI2t = 128 264,827
02 JIEtE B = 7,616 0 7,616
OANHA2ZRSH(LBAIIH)
10,509 = 1% = 30AI2t = 128 3,784
ONAARRL(HAYR)
10,6433 = 1% = 30AI2t = 128 3,832
03 RIHAZ 22 39,583 24,303 15,280
O &4 HINRA(BRH) 36,503
OJles 2,142,000& * 18 » 123 25,706




SN EFIARER I
M HNL2IHY (BFEER I
Chel: ol 2y (el &)
S2A-ZH () - HRAY - BES Oif &4 %Ei Hw=sz
PR 07,1008 = 19 « 12 1,286
OE=; 2,160
-2l 130,0008 » 19 « 129 1,560
-Heay 50,0008 * 1% = 128 600
OFHESIHI
2,142,0002 * 50% * 1% * 23] 2,143
O &byl 80,5608 * 1% = 202 1,612
OxU22+Y
14,9802 * 1 = 20AI2t » 12€ 3,596
O4EE B2o2 3,080
Oo=oei3 29,152,000 * 4.5% 1,312
OALEH 29,152,0008! * 3.23% 942
OFIQULE 942,0008 * 8.51% 81
@nE=3-F 29,152,0008 * 1.5% 438
OMHEEs 29,152,0008 * 1.05% 307
J23A 69,598 74,884 A5,286
JI2 A 69,598 74,884 A5,286
201 LBr2 22,888 22,824 64
01 AFR 22l 22,888 22,824 64
OJ2des+d SSAY (JIFEHH)
500,000 * 19 * 95% 9,025
oZgHI(JIEZY!)
8,0009 * 19% * 8L » 128  95% 13,863
202 04 H 32,160 35,520 3,360
01 22U 041 27,360 30,720 3,360
O=2UHHI(J1=ZHl)
20,0009 * 159 * 82 x 128 x 95% 27,360
02 2 %0 H 4,800 4,800 0
OFHHHI (NHH2HE)
200,0008 * 2% 2% 4,800
203 PR =Y 14,050 15,340 A1,290
01 JZ22Y U2 =N 6,000 6,000 0
OJIEH(43) 6,000,000 6,000
02 HAAJIAH R EA Y| 4,450 5,740 A 1,290
OFAINIMYRFTY] 4,450
OJI =% (100 DHXI) 40,0002 * 100 4,000
OJIZ % (400 DHXI) 30,0008 * 159 450
04 BAR2HARFNH| 3,600 3,600 0
©JIZE % (209! 0I5t) 300,0008! * 122 3,600
405 XtHAkF S 500 1,200 AT00
01 AL S EF SHI 500 1,200 AT00
O2RFA X (A2INHE)  500,0008 * 1M 500




SN BEBRS HEEAY
HE: HRHS (IS BB
2 LHEHHX S CEERED)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
HEess (a2 sHHMY) 122,000 132,740 A 10,740
WEAHA XK= 122,000 132,740 A 10,740
LHEHHX = 122,000 132,740 A 10,740
701 JIEISI HSHEE2 122,000 132,740 A 10,740
01 JIEtSI HE &= 122,000 132,740 A 10,740
©20198 Q@I =2Fae| Al#HHE 0|t
45,000,000 45,000
OUES 2= yE 2e| 12,000,000& 12,000

048 2HoAST AL ANBHHLY

65,000,000& 65,000




>
N & 0 & AF &2 8 A A
2020 = =0 &k LA SF2Ac=2R S$IFHY ~ SF 2 ot ==& 2 1t
AN 32222 JI=FUIIH
M 9 JiRE tolEd =4
Hel: G828 - 538 I S (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
gZ2e2% JI=UIIH 24,674,597 9,274,620 15,399,977
= 14,226,522
< 3,028,894
Al 7,419,181
ofD JHRE tHolEd =4 24,628,625 9,215,564 15,413,061
= 14,226,522
< 3,028,894
Al 7,373,209
S8X =S8 I8 U2 292,135 542,910 A250,775
= 93,900
Al 198,235
JISHSIHH F& 160,535 402,910 A 242,375
= 30,000
Al 130,535
201 2et2d]| 56,535 60,910 A4, 375
01 At 2teltl 56,535 60,910 A4, 375
OHHZEZ AN HESE NN £ 2LIHE H
N ZEHI 58,000,000& * 13| * 95% 55,100
OHE& st=Hell A A3l
800,000& = 18 = 95% 760
OHEA SIHE NAEE JZHEUSM A
Al | 110,000& 13| * 95% 105
OJIZHstNE SEEAA=E(32)
300,000 = 23| * 95% 570
203 YR =&l 2,000 2,000 0
03 Al =AY R =& 2,000 2,000 0
OJIZEtIIZHYE =& 2,000,000& 2,000
206 M= Hl 2,000 0 2,000
01 =8l 2,000 0 2,000
OJI&4d 8 JI2E20Y MEM=
10,0003 = 200H = 13l 2,000
207 51 OH £ Hl 40,000 40,000 0
01 2289 40,000 40,000 0
02019 24IIA HIEYE NN =4
20,000,000& = 13l 20,000
©20208 24ItA HHE2HHKH HSHE =8
20,000,000& = 13l 20,000
401 AIEHI L 20 60,000 300,000 A240,000
= 30,000
Al 30,000
01 A& Bl 60,000 300,000 240,000
ouzZ=Z3=dA OelHE &
60,000,000& * 1JH A 60,000
= 30,000
Al 30,000




i)
[l

2N & |22 JI=0ID

3
90 HRE toIEd x4
S8

=

Sl S8 - SSH JBH S (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
EBFAZOIEN Jt2It+ ClHMEE Xz 95,800 100,000 A 4,200
= 46,000
Al 49,800
201 £B-2d| 3,800 4,000 A 200
01 At 22l 3,800 4,000 A 200
OEBAZOIE ot 2 AEAM HZE
2003 = 10,00000 = 95% 1,900
OEHAIZQE I E22 M
1,000& = 2,0000H * 95% 1,900
301 gEtEd = 92,000 96,000 A4,000
= 46,000
Al 46,000
12 JIEHE4 = 92,000 96,000 A 4,000
OEHAZQEN 29 92,000
OPQIHlEIE XIZ(IHel)
10,000& = 8,700AMICH 87,000
= 43,500
Al 43,500
OQMEIE XIS (X)) 1,000,0008 * 5& X 5,000
= 2,500
Al 2,500
NS SHAZQERH 2 1,800 0 1,800
= 900
Al 900
301 LeHEBAF 1,800 0 1,800
= 900
Al 900
12 JIEtE &= 1,800 0 1,800
OXsI BFAZCIEN QAHMEE Xa
45,0003 = 40CH 1,800
= 900
Al 900
BIAHE2AEE 2AIA MHHALE (AZ) 34,000 40,000 A 6,000
= 17,000
Al 17,000
307 21201 A 34,000 40,000 A 6,000
= 17,000
Al 17,000
02 ItFAAHE X 34,000 40,000 A 6,000
OHIMHFZAIHE 24014 ALY XA
34,000,000 * 1002 34,000
= 17,000
Al 17,000
S oI gt =4 5,522,321 120,260 5,402,061
= 2,980,288
< 436,108
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Al 2,105,925
OIMSHA SSHUCHS ol 2A T () 480,000 480,000
= 240,000
Al 240,000
101 @14 Hl 480,000 480,000
=2 240,000
Al 240,000
04 JIZtHZ22XEE S 480,000 480,000
OOLIMHX SHCHEHE ol 2PAl o124y
2,500,000 » 24 » 8& 480,000
= 240,000
Al 240,000
OIMIHA SSHUCHSE ol 2A N () 87,500 87,500
= 43,750
Al 43,750
405 XHobF S HI 87,500 87,500
= 43,750
Al 43,750
01 XY 2 ZFH S| 87,500 87,500
OAFAZXNSHHEX 21,875,000& * 404 87,500
= 43,750
Al 43,750
e MEE SXAIE X K 4,644,000 4,644,000
= 2,580,000
< 412,800
Al 1,651,200
402 RIZEX201 ™ 4,644,000 4,644,000
= 2,580,000
< 412,800
Al 1,651,200
02 22t X2 ArL 2= (01X THE) 4,644,000 4,644,000
OARE AIHE ZEXAE &X X&
154,800,000& * 300H £ 4,644,000
= 2,580,000
< 412,800
Al 1,651,200
IHSA 2= AR5 29 1,272 1,272
301 LEHZ 1,272 1,272
09 HALAHIX RS 1,272 1,272
O&REs 29 1,272
Oslo #4X =4H  8,0008 * 1298 * 43 384
OW&X HAst FHl 74,0008 * 129 * 13 888
CHol ¥ TSI SotA 22 39,101 21,789
201 Let24E] 14,801 1,304
01 At 22l 8l 10,090 A 530
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXNSXHEINASHI| HEZAN =2 495
OBETA HASHI|
250,000& = 1CH * 95% 238
OMOI=E)| HEZEH 28 L BH
50,000 = 300 * 95% 143
Ol =dE dHICl 22t et
120,000 = 104 * 95% 114
o =dE Hitotbet e E=X
100,000 * 204 * 95% 190
OMIILLEEE ANE M UHetx=x==
1,237,500 = 8 A * 95% 9,405
02 23244 4,711 2,877 1,834
O A& & H| K X4 1,711
Ol =x"E H|ICI2It0 2t 900,000 = 1CH 900
OXSXHIEIIA HHA=H D]
811,000 ~ 104 811
O (MIIXSX) S22l
1,500,000  2CH 3,000
206 M 2 d| 500 2,000 A 1,500
01 X2 H| 500 2,000 A 1,500
OStZEE=HHH| JI X 500
oMsdY 2,500 * 2004 500
405 XHAHF S HI 23,800 1,815 21,985
01 AL 2 ZF S| 23,800 1,815 21,985
O =x"E HIC2ItH et & £=I|)|
22,000,000 ~ 1CH 22,000
octs=s4d )| 200,000 = 9CH 1,800
HEAl O UM B3 2 3,040 0 3,040
201 et | 3,040 0 3,040
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O8g9 s EFAH 3,040
[OPIR=E=; 100,000 * 8Y * 43| * 95% 3,040
AAIZE DAY RoAF=HI| 22 93,160 28,000 65,160
201 LBt 9H]| 93,160 28,000 65,160
02 2=2=24%H| 93, 160 28,000 65,160
ORCUAFN=A) M|, SANR2 11,760
O2HY @2(2LIHEPC)
110,000 = 12& 1,320
OEMNRS(=AED|) 20,0008 * 2704 = 12& 6,480
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ORQIAF=A)| AlEEH KA 81,400
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g2 =W
St JHRE tHolEE =4
DIMPIN2SE oXe 8 £4 CR-ED
SA B ER(EN) - AR - BES of & o4 San HIDZ2
201 fEt2E | 4,180 0 4,180
01 At 2t 2l bl 4,180 0 4,180
ORI FH+E 4,180
OJdle=¢ 100,000 * 11 = 43| = 95% 4,180
sFSgds B4 160,919 246,338 285,419
201 B2 160,919 140,338 20,581
01 At2 22l H 9,025 4,420 4,605
OUIKMESIX % QELHH =2 222 A
1,000& = 1,5000H * 95% 1,425
OHIA4MZEX 82 7,600
Oos22 1,000& = 3,0000 * 95% 2,850
O+ 50,0002 = 10094 = 95% 4,750
02 S3=29Hl 151,894 135,918 15,976
olIxagddE 24EH| 39,234
OFSIIRTS=, 400,000 = 20H = 128 9,600
Oostes 130,000& + 204 = 12& 3,120
Os X2l 26,514
AR 2 (2 E) 18,000,000& * 10H & 18,000
-QFWSIHI () 8,514,0008 * 100 8,514
OIS FEANALY 2HHI(2 7F) 5,600
Oostes 50,000& = 408 + 128 2,400
= X2 ==l 800,000& = 40K 3,200
OOIMEZX el dss 23| 8,360
OFSPIRTS=, 18,000& = 1004 = 128 2,160
Oostes 10,000& = 100H 2 = 128 1,200
=X 2 ==l 500,000& * 109K 2 5,000
oy =3% 244l 98,700
OFSIPIRTS=, 250,000 = 3MA = 123 9,000
Ostes 100,000& * 32 = 128 3,600
=Xl 2 el dl 17,700,000 * 30§ £ 53,100
OAZ2FH| 11,000,000& * 30§ £ 33,000
tHoleg2el 423,840 496,840 A73,000
201 Yer2 | 423,840 301,840 122,000
01 At 2t 2l bl 342,000 220,000 122,000
OUJIEZNL &=t Jxt
60,000,000% = 601 * 95% 342,000
02 S3=29Hl 81,840 81,840 0
OloT DIME X 22 &4 AMHlAH|
159,500& * 4004 + 128 76,560
QloT OIME X 22 £28 S4l
11,0008 » 40002 » 123 5,280
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5,120,000
2,560,000
1,280,000
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A 132,000
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5,120,000
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AN 32222 JI=FUIIH
90 HRE toIEd x4
Sl DIMSIX2RE QFE #Y X4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 379,488
Al 379,488
02 LA TEALEZ(0IETHR) 1,897,440 1,060,016 837,424
O=dsx ZJIHX N&
1,608,000& * 1,180CH 1,897,440
= 1,138,464
< 379,488
Al 379,488
SHIAR A HEILA M2 AL (2 & XIDPF) 241,990 0 241,990
= 120,995
< 60,498
Al 60,497
402 RI2EXH=20l A 241,990 0 241,990
= 120,995
= 60,498
Al 60,497
02 QI EAILEZ (01X S) 241,990 0 241,990
OLSZRI WA ML EX(0OPF) 2= X
3,457,000& * 70CH 241,990
= 120,995
< 60,498
Al 60,497
SHIARA HEILA M2 AL (AEIH AXWA) 412,500 0 412,500
= 247,500
< 82,500
Al 82,500
402 RI2HX=20l M 412,500 0 412,500
=2 247,500
< 82,500
Al 82,500
02 QI EAILEZ (OIS ) 412,500 0 412,500
OHEIIAH AHAWH X
16,500,000& * 25CH 412,500
= 247,500
< 82,500
Al 82,500
SHZFA HWEIA M2 AL (21 & I] HIDPF) 231,000 0 231,000
= 138,600
< 46,200
Al 46,200
402 BI2FX=20| M 231,000 0 231,000
= 138,600
< 46,200
Al 46,200
02 QI E2AIL EZ (01 XS ) 231,000 0 231,000
OAHLIIH HAXMZEXI(OPF) 2= X
11,000,000& * 21CH 231,000
= 138,600
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= 46,200
Al 46,200
SHARSLI BHSOtA M2 ALY (LPGSHES AH) 280,000 0 280,000
= 140,000
= 70,000
Al 70,000
402 BI2H X 20| M 280,000 0 280,000
= 140,000
= 70,000
Al 70,000
02 CIZEXIE AL E X (0| XM THL) 280,000 0 280,000
OLPGSIE X Al 2 X&
4,000,000& = 70CH 280,000
= 140,000
& 70,000
Al 70,000
=AM NS B2 8,125,000 975,000 7,150,000
= 5,625,000
& 500,000
Al 2,000,000
402 BI2H X 20| M 8,125,000 975,000 7,150,000
= 5,625,000
= 500,000
Al 2,000,000
02 CIZEXIEAIS EX (0| XM THL) 8,125,000 975,000 7,150,000
ooltE28 SAFIIXN 2L X
32,500,000& * 250CH 8,125,000
= 5,625,000
& 500,000
Al 2,000,000
HMSHAY (P22 JISHIIW) 45,972 59,056 N 13,084
Jl2&ddl 45,972 59,056 N 13,084
Jl2AH| 45,972 59,056 N 13,084
201 et d| 15,660 15,216 444
01 AR 22l ] 15,660 15,216 444
OJI2AdL2=sAH|(JI=HH|)
500,000€ * 13¥H = 95% 6,175
o3I (J1=ZHl)
8,000& * 13% x 8L x 128 * 95% 9,485
202 044 23,712 23,040 672
01 2L Y| 23,712 23,040 672
O=2WAdl (21=Adl)
20,000€ * 13Y * 82 * 128 » 95% 23,712
203 € R F=&d| 3,000 3,000 0
04 ENSIE LR F=XH| 3,000 3,000 0




AN 32222 JI=FUIIH

M dY2ILH(Z 22 JIFUIID)

& 123l (&)

SA - BB B () - MM - BES Ol &t o San HmEET
©J|F X (152! 0ldt) 250,000& = 12& 3,000
405 TtHabF S| 3,600 17,800 214,200
01 AL EFSHSHI 3,600 17,800 A 14,200
[

CFL:1PY 300,000& * 1204 3,600




= A
N = 0] &F AF S & AN A
P020HT EOIA UUE N BABRSE HIFMY - HIU2I2L GHLFHD
SN BFRRS HEIHY
N D WRE BEEZA HEF= X4
E2|: 365 MRS H=x (2 &HH)
2 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
st =2 ANFFA 36,258,760 31,043,853 5,214,907
= 3,781,500
& 752,800
Al 31,724,460
9N JHRe HEEA HEF X4 36, 188,635 30,968,411 5,220,224
= 3,781,500
o= 752,800
Al 31,654,335
365 MRse HE 14,295,238 13,831,684 463,554
st 2el 669,616 192,667 476,949
101 21 214| 483,593 0 483,593
04 JIZtHIZ22XNSES 483,593 0 483,593
ostZ&cld FEAUAM JIAHIEXN o2 483,593
oJleas 81,090 * 18 » 262 x 118 417,452
O0F2k==¢&f 5,068% * 18% * 22& x 1€ 22,077
Oo4lEsg 24 =2 44 064
-=013 417 ,452,000& * 4.5% 18,786
-HAEE 417,452,000 = 3.23% 13,484
“AJRUYEE 13,484,000& * 8.51% 1,148
-lsgd 417,452,000 * 1.5% 6,262
-MHEE 417,452 ,000& * 1.05% 4,384
201 YEt2 | 33,963 31,587 2,376
01 AP 2t 2] H| 12,123 12,760 ANB37
O F 2L /AHEH J2d2AHH|
250,000& = 12€ * 95% 2,850
Ot HEH S9As L HA
350,000& * 53] * 95% 1,663
Ot A2IJHEE A &L BFI| A
7,050,000& * 13| * 95% 6,698
O&"LD| AXES 40,0008 = 20H ~ 128 * 95% 912
02 E2=22%H| 8,520 8,507 13
OXAHX SFHI 1,275 = 1,200L 1,530
O XIAH X & XH| 2,000,000& 2,000
OXAHX B8 = 150,000& = 1CH 150
OXAHX BA=xx=E 50,000& = 1CH 50
Ot &2 HEH =&KXl
2,401& * 1,995m 4,790
03 HAI2 G HI 13,320 10,320 3,000
OSHZUZH EUA HAHMEEEX 9H) 13,320
Osl =9 70,000& = 1J4 70
O ALE 3t 100,000 = 2J4 200
OZCreg 100,000 = 9JH 900
OZ AHTH (CH) 150,000 * 9JH 1,350
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HE: oD RS BECA BFE X4
&l 365 MRE F= (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OEIZT fI2 AMASE 1,200,000 * 9K 10,800
203 YR =2l 4,000 4,000 0
03 AIMFAH S Z=AY| 4,000 4,000 0
ONVIH U #HR2Y AR =7
4,000,000& 4,000
301 LPEXF 147,260 134,880 12,380
06 212toI= 2l 04l 100,000 90,000 10,000
oI HALTAS
2,200,000 = 25%H 55,000
OFUEY AT HAMANE (RS
2,500,000&  189H 45,000
09 HALAHIXI &3 47,260 44,880 2,380
otz acld sxedE Msis
70,000& = 2784 19,460
oY HAXAS YT
100,000& * 2784 27,800
303 Z& 3 800 800 0
01 243 800 800 0
CEEEEREIE2:
100,000& * 2% = 404 +& 800
MM Il Ml 11,638,906 11,571,301 67,605
201 Let24E] 1,114,389 1,183,884 A 69,495
01 At 2t 2l 88,825 68,500 20,325
OSHE MDDl HE 22 M
5,000& = 8,0008 = 95% 38,000
OMIIE0I 22 sS4 M
25,000,000& = 13| * 95% 23,750
OXYX EIAZ SHENESF FHAEA A
50& = 5,000MICH ~ 10& * 95% 2,375
OFARIA &I M=
100,000& = 20H = 95% 1,900
OAlRl SBZA =&
30,000& = 4H * 2002 * 95% 22,800
02 =224l 1,025,564 1,115,384 A 89,820
OFAXE 2| ALY FXE=H|
250,000& = 12& 3,000
OFALXSRACIAIAE GPSHITI| A=
10,0003 = 6804 = 12& 8,160
OMEEF=HELEXNETL MRS
7,000& * 1CH = 128 84
OMYIIESHEI 2AICCTV SSALEH SR
= 300,000& = 12& 3,600
OUEHIIE 268 XSt
60,000& = 12& 720
OHIIEXM=RES 1,010,000
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&l 365 MRE F= (cho &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
o2t 10,000& = 130,000& * 50% 650,000
omg 15,000€ = 24,000 360,000
207 SO0 | 87,700 0 87,700
01 A 87,700 0 87,700
OMEHIIS +Z20 HHSY ANME o7
=29 37,850,000& = 13 37,850
OMEHIS(SASEE) 2ER2 88 2
FutAl AREA 37,850,000& = 13 37,850
OMEHI IS $T2—° HAE2A HA(AE &
NHEE) 24 12,000,000& = 13 12,000
301 et M3 130,600 100,600 30,000
12 JIEtE & =2 130,600 85,000 45,600
OZ2E2 ESSAHH MHel2a=z 115,000
OosXd 15,0008 * 2,500A4 37,500
OsHAN<E 25,000 = 3,100 77,500
OZ2elotA 22 =20 29
20,000& = 13IHA = 5 x 128 15,600
307 2iz2to| & 10,306,217 10,286,817 19,400
02 QIZ2IAAAIE E X 19,400 0 19,400
OMHYIIZ0|D] AMOAERS
10,000,000 = 2OHSH M * 97% 19,400
05 QIZt &2 10,286,817 10,286,817 0
OHASI ~T28 Ha+4+2
110,000 * 12& 1,320
OMEMHIIZ =2 Hdlx= 10,285,497
O2SFE e d
1,162 = 161,000MICH ~ 12& 2,244 984
OB SZe Jtely
2,0562 = 76,100MICH = 12& 1,877,540
Ott=x=& HE=
2,9362 * 75,900MICH = 12& 2,674,109
Og8HXNE I
4.189< = 35,500MICH ~ 12& 1,784,514
OArE A Ot o
2,0772 = 29, 500MICH = 12& 735,258
OAtEEA s
2,9262 x 27,600MICH =~ 12& 969,092
MDD SEH 25 HMEHE Y 23 1,986,716 1,986,716 0
206 M 2 Hl 1,985,716 1,985,716 0
01 X2 Hl 1,985,716 1,985,716 0
OMYIIBSHM HASE HE 1,848,916
ogdsr= 1,688,395
-22l & 232 % 400, 0000H 9,200
-52| & 312 = 1,000,0000H 31,000
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-102l & 38& * 3,200,0000H 121,600
-202| & 57& * 3,150,0000H 179,550
=502l & 124& = 2,400,0000H 297,600
-1002I & 219& = 1,550,0000H 339,450
-0tCH (2021 &) 330& * 24,5000H 8,085
-0t CH (4021 &) 4003 * 400,0000H 160,000
~-0FCH (10021 &) 603& * 120,0000H 72,360
-MHAHE (1021H) 41& = 1,550,0000H 63,550
-MHAHE (2021H) 58& * 7,000,0000H 406,000
O=38 160,521
-502| & 1243 = 800,0000H 99,200
—DOFCH (4021 &) 4002 * 18,0000H 7,200
~0FCH (10021 &) 603& = 57,0000H 34,371
“S A0 (15021 )
7903 * 25,0000H 19,750
OR=XSE(2021H) 57@ * 2,200,0000H 125,400
oYX PEXZE(202H)
57& = 200,0000H 11,400
301 LEAS 1,000 1,000 0
12 JIEtE2 &2 1,000 1,000 0
O=EE8AASTE 7S &1 Bd=
500,000& * 23 1,000
HAR d&=8 J|gtxd 13,607,677 10,554,670 3,053,007
= 918,500
< 84,800
Al 12,604,377
SASF HJIS Mel & 2 9,269,880 9,262,010 7,870
201 ¢et24l 348,846 383,700 A 34,854
01 At 22l 114,000 163,440 A 39,440
OSASRHIIS Hel44E Y2EE |0
30& * 2,700,00000 * 95% 76,950
OSAM=ZEEN s 822 MH
3,000& = 10,0000H * 95% 28,500
ORFIDEXIMITH ZHZQE XIS (202l S
E5) 3703 = 20,00000 = 95% 7,030
OSASRHIIS AN SUEIHAEE &
G 100,000& = 8Y = 23| = 95% 1,520
02 =224l 234,846 230,260 4,586
ORFID HEAZEHl FXZHI
1,700,000& = 1,234CH * 8% 167,824
ORFID HE A ZEHl S4lbl
4,526% * 1,23404 ~ 123 67,022
207 & O &l 33,000 0 33,000
01 2284 33,000 0 33,000




SN BFBARE VAEHDY
HE: oD RS BECA BFE X4
SHelr HXE da@ JIsEs CER-ED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSNERHIIZ HE-S =8 o #98 &
20 AN EES 33,000,000& * 13l 33,000
301 LEHZ 75,534 65,810 9,724
12 JIEBHE4 = 75,534 65,810 9,724
OZEFY SASRHIIE Hal+4+z A4l
H 2a= 1,0008 « 125,889AMICH 5% » 123 75,534
307 gl2tol & 8,760,000 8,760,000 0
05 BIZHRI & 3 8,760,000 8,760,000 0
OSAZSRHIIS T2 QAUBE22
120,000& = 200& * 3652 8,760,000
402 RI2EXt20| ™ 52,500 52,500 0
01 2IZE 2 AL B (RERTH ) 52,500 52,500 0
osASMUIl MHMHMI XNEASE(IHEE)
875,000& = 7504 = 80% 52,500
Heeg gdste 18188 AIEAH 478,063 625,820 AN147,757
201 Let24d] 57,813 64,482 A6,669
01 At 22l 57,813 58,055 A 242
OHFAMSBEEAES 925 B g
100,000 * 14Y = 23] = 95% 2,660
onMaEsE =2FtHE 2= M&
1,000& = 27,00000 * 95% 25,650
OZ0I® WEAS(SEX Xz)
250% * 52,00000 * 95% 12,350
oOMEE 2Jtis g2 3
575% * 5,0000H * 95% 2,732
ongs =FHE MEstsud 29 1,653
OZ A=< 40,0002 * 403 * 95% 1,520
Og+=9 70,0004 = 23] = 95% 133
oNess 2FE 88 =2 MA
70,0003 * 48042 * 43| * 95% 12,768
206 M= Hl 41,900 47,900 A 6,000
01 M= 4l 41,900 47,900 A 6,000
OHAMX Z22& 20,000& = 1004 2,000
OHEZS HEX =HE
300,000 * 407 * 1090 & 12,000
OFEXY M) Ss+=HE
1,000,000 = 20K 20,000
O30 =HE & MH 7,900
O20elH 56& * 100,0000H 5,600
O50el H 1212 * 10,0000H 1,210
O 1002l H 218& = 5,0000H 1,090
301 LEHZ 18,200 18,438 A 238
12JEEd=S 18,200 18,200 0




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSSN ANENS 40,000& = 15&A 600
ORI 2= 0IXS AL dIEa=S
30,000& = 20A 600
omMgeEs =48 JdUs L 17,000
Ot (1094 ) 8,500
-E R 1,500,000& * 2JH 1 3,000
- 1,000,000 * 3JH 1 3,000
-Zed 500,000& = 501w 2,500
O3s==(10H4) 8,500
X R 1,500,000 * 200 A 3,000
-R 1,000,000& * 3JH £ 3,000
-&d 500,000& * 50H A 2,500
307 21201 A 360,150 495,000 A 134,850
04 QIZFHALAIH B = 14,550 15,000 A 450
OOotLtdCH s &EH 15,000,000& * 97% 14,550
05 RIZHRIEF 3 345,600 480,000 A 134,400
OZEFY MEBEH VAUBE2E
1,200& = 24,000MICH » 123 345,600
SEHHE =HB4=2 440,000 440,000 0
= 40,000
= 80,000
Al 320,000
301 gEd = 440,000 440,000 0
= 40,000
= 80,000
Al 320,000
12 JIEHE4 = 440,000 440,000 0
O=ZHHY =AH24 110,000& * 4,000& 440,000
= 40,000
< 80,000
Al 320,000
SE ALY =) 11,440 11,440 0
301 LBEXZ 11,440 11,440 0
12 JIEE4 =3 11,440 11,440 0
OsALIE=H Ba3 11,440
ORelg 120& = 2,000kg 240
(OF 1= FE= 320& * 35,000kg 11,200
SASRHIIZ HEASEI XM 123,200 123,200 0
401 Al HI L 2 THHI 123,200 123,200 0
01 A& HI 123,200 123,200 0
OSAMERHIIZS NEAHSI EX ALY
2,214,000& * 50CH 110,700




SN

3
B oD HRE BETA
K =]

e
S HY 4= Jlgtxd (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSASTRHIIS HEHSI HEAY
250,000& = 50CH 12,500
orgld =g XX 16,000 20,000 A 4,000
< 4,800
Al 11,200
206 M= Hl 16,000 20,000 A 4,000
< 4,800
Al 11,200
01 M= 4l 16,000 20,000 A 4,000
OsAgE= At
500,000& 320 2 16,000
< 4,800
Al 11,200
Ss&otE A& 25,000 65,000 A 40,000
= 7,500
Al 17,500
401 AIEHI L 20HEI 25,000 65,000 A 40,000
= 7,500
Al 17,500
01 A& Hl 25,000 65,000 A 40,000
OsZHHYEY =28 & 4xl
5,000,000& * 504 25,000
= 7,500
Al 17,500
A HEELELAH At ,904,000 0 2,904,000
= 871,000
Al ,033,000
401 AIEHI L 2CHEI ,904,000 0 2,904,000
= 871,000
Al ,033,000
01 A& tl , 175,189 0 2,175,189
OMEELEHEH MAFAY 2,175,189,000& , 175,189
= 871,000
Al ,304,189
02 2feldl 720,980 0 720,980
ongsLgM At 720,980,000 720,980
03 Al 2 THHI 7,831 0 7,831
ongssdgd e
,175,189,000& = 0.36% 7,831
EBFA MEESALHH 340,094 7,200 332,894
307 21201 A 337,094 0 337,094
05 RIZt2IEt = 337,094 0 337,094
OMEEAIL4 cl2g /s
337,094,000 337,094
405 TtakF S| 3,000 0 3,000




2H: sABRS HAFHY
Bu: gD WRE BATA HF X4
R HAY d=8 J|gXH (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
01 AL 2 ZF S| 3,000 0 3,000
O XS M A= 3,000,000 = 1M E 3,000
MM HII=S2el 19,004 221,110 A 202,106
HIoIS Xl A & 22l 19,004 221,110 A 202,106
201 LBt | 17,904 18, 160 A\ 256
01 AP 22| d| 13,604 13,860 A\ 256
OHIIE NEEHZAHA H =
8,0008 » 53 x 128l * 95% 456
OZEARAU(HIISHHE M2AHA)
100,0008 » 2= * 95% 190
O=HMEHIZ2 Melx=2=2
300,000& * 10E€ * 95% 2,850
OEEHMEHIIES =228 s
400,000 ~ 1 = 95% 380
OHIIE 422s A24+4E
300,000& = 63| * 95% 1,710
OHJIE2 EZAXel Heg I H =
5,000€ = 1,0008 =* 95% 4,750
OHIISYH NEEZE=E 22 3,268
oFdE=E 130,0008 » 8% * 95% 988
ogst= 150,0009 » 8% * 95% 1,140
(OFSF=5= 150,0008 » 8% * 95% 1,140
02 =224 H| 4,300 4,300 0
OHJIZEXNE & A & A 22|
4,300,000& 4,300
301 et A= 1,100 0 1,100
12 JIEtE2 A= 1,100 0 1,100
OoIZ2HHUEA Y S=sHA
68,720 * 4 x 43| 1,100
HOl28 M2AE &= 8,266,716 6,360,947 1,905,769
= 2,863,000
o=t 668,000
Al 4,735,716
A=A H2EE ZEAMY 7,165,143 4,673,333 2,491,810
= 2,863,000
= 668,000
Al 3,634,143
401 Al HI L 204 HI 1,505,400 3,505,400 A 2,000,000
01 Al&H| 1,500,000 3,500,000 A 2,000,000
ON2MEHN &4 018522 EXZ2A
1,500,000,000& 1,500,000
03 Al 201 Y| 5,400 5,400 0

¥

i

OoMzgd 3

4

Ols22 X SA
1,500,000,000& * 0.36%

5,400




SN

3
M ootD WRE HACA

HxE x4
&2l HII2 MelAd &5 N (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
403 XXM S X201 5,659,743 1,167,933 4,491,810
= 2,863,000
< 668,000
Al 2,128,743
2 I 2SHCHeA2H 2 E A I 5,659,743 1,167,933 4,491,810
OF=Al HoHEg & LAY 5,659,743,000& 5,659,743
= 2,863,000
= 668,000
Al 2,128,743
ZAEdE 28I Ot FU=SJAMS 1,101,573 1,687,614 A 586,041
201 L2l 13,458 8,614 4,844
01 At 22l 10,260 6,400 3,860
O&AXAZZ A (ESTHH)(H el 01 E)
600,000 * 2MIE * 95% 1,140
ON2EE ¥ F0=JAAY SEEQ
Xtdl 800,000& = 1CH = 12& » 95% 9,120
02 ZZ 2l 3,198 2,214 984
OH2HYE ¥ FoSVAY HIHO TR
S 1,560& = 10.25L * 200 3,198
401 Al HI 2 2B 1,088,115 1,679,000 A 590,885
01 A& HI 1,084,335 1,672,974 A 588,639
SU7E FLU=JAAY 70,000,000& 70,000
OHlotesbEs FRU=AAY 70,000,000& 70,000
OMEIBS FoU=JAAY 70,000,000& 70,000
O&=3288 FU=SAAAY 70,000,000& 70,000
O&A268 FOU=AAY 70,000,000& 70,000
OXsS158 FoU=JAAY 70,000,000 70,000
OXs16Es FeU=JAAY 70,000,000& 70,000
O+2138 FoU=JA A 70,000,000 70,000
O=x2148 Fo=JAAY 70,000,000& 70,000
OAtelel =el=sJA ALY 70,000,000& 70,000
OAtel2e] =R =RAY 70,000,000& 70,000
OE=31cl Fe=JAAY 70,000,000& 70,000
O&=23c2 =U=SIAAY 70,000,000& 70,000
OKHBE F0U=JAAY 70,000,000& 70,000
Odlot21s FU=SJAAY 70,000,000& 70,000
Os78S 1BML FU=SFAAMY HALEHEY
1,050,000,000& =* 3.27% 34,335
03 AIE 2 0HHI 3,780 6,026 A2,246
@EFOE'DHE' T 2AFGEALS FeU=sJAAGFA
=Ll 1,050,000,000& * 0.36% 3,780
MUY (FF AR VAU 70,125 75,442 A5,317
Jl=34l 70,125 75,442 25,317
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K- EH3 B (3H) - HSAY - Ba2 il HZS2
Jl23l 70,125 75,442 N5, 317
201 Bt H | 28,816 27,238 1,578
01 AP 22l Yl 27,706 26,128 1,578
oJlegesdasHL (II=38l)
500,000& * 23YH * 95% 10,925
oZ2gHl(JI=&Hl)
8,000 * 23% » 8 x 12&8 * 95% 16,781
02 35244l 1,110 1,110 0
O A& & Hl K XYl 1,110
O1NE= A 15,000,000& ~ 100 ~ 6% 900
O&E K= A 3,500,000& » 100 * 6% 210
202 4] 37,109 33,504 3,605
01 2 LHHI 22,709 23,904 A 1,195
O=UWdAdl (2IE34l)
20,000& * 169 = 82 * 128 * 70% * 95% 20,429
OHJIE2XM2IY 8l & NS (HAFE)
200,000& = 1€ * 12&€ * 95% 2,280
02 AN Y| 14,400 9,600 4,800
OEHNWHI(HIISXNZE)
200,000 * 6YH = 12& 14,400
203 Q2 =AY 4,200 4,200 0
04 ENSHLRE=XH| 4,200 4,200 0
O©J|= (25021 0ld}) 350,000& = 12& 4,200




P020HIE EOIA YEHEIN BYBRASE HAIMUY ~ B2

A

AN 3222 A 2el
M HIISES NEctsE &Ed ANE2Y
& =20 ¢adl=E HII2 MelAlE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
gZzze28 M2l 23,282,502 21,488,489 1,794,013
HOI2S NUJsdle &E83 Ad2d 17,725,995 16,582,568 1,143,427
=010| QtalGtE HOI2 MelAl&d 17,057,730 15,931,640 1,126,090
AL 2AALE 22 7,796,587 3,514,772 4,281,815
206 M= Hl 4,739 4,000 739
01 MHZ 4l 4,739 4,000 739
OA2AAEL T MEXHAE Sot2s
4002 * 7,000kg 2,800
OxAANEHYZE NSS4 HAMEH
2773 = 7,000kg 1,939
207 A O] 226,359 183,000 43,359
01 2339 226,359 183,000 43,359
OHFABAAANL 257 NSHAABZ A
29 92,000,000& * 13l 92,000
OBFAZAALAANL 25)| J2TH B
134,359,000& * 13 134,359
307 glz2tol & 5,397,500 1,772,500 3,625,000
05 RIZt2E = 5,397,500 1,772,500 3,625,000
OSAERHIIE 22Xl AR
30,000& = 25% » 50& * 60 22,500
OALZAIE 2801 WEMHIIZ2 fIEH™el]
250,000& * 3,500& 875,000
OA2AE HZ0 OE Hol2 fIEXealdl
250,000& = 18,000& 4,500,000
401 A& HIZ 201 Y] 2,167,989 1,355,272 812,717
01 A& HI 2,167,989 1,355,272 812,717
OAZANE1SD] AT ¥ SHE WA 735,120
O3 AtHI 720,000,000 720,000
O& A& bl 720,000,000& * 2.1% 15,120
OA2AANE1SI HUE XD B 616,869
O3 Atdl 603,000,000& 603,000
O& A& A HI 603,000,000& * 2.3% 13,869
OFFTHZAALAAANL HESLY =2 WA 816,000
OAL2AE 12D S AHHI 250,000,000 250,000
OL2tAIE25 D] 3 AtHI 550,000, 000& 550,000
O& A& A bl 800,000,000 * 2% 16,000
e HEgdy 2922 489,455 1,561,639 A 1,072,184
201 Let24E] 217,241 224,056 26,815
01 At 22l 131,323 138,336 AT,013
OME X SZEEZMN =2 72,884
oY FES
350,000 = 10HA * 128 * 95% 3,990
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SN BB FR2D
o HOISS NBsGs Ve NESY
9l FOI0| QAGtE HIIE HelAlY (29l 8)
SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
CEETEERFIE 25,098
SPIEX-E 12,768
-BHg () 11D
82308 * 73N * 1H4 * 128 7,210
- (L)1 DA
74708 % 17KN * DL+ 128 1,524
-G g () 11D
74708 % 45K0 « 1L+ 128 4,034
onxzgea 2,330
-BrE (2) 11D A
13520 * 4,000k * 1§ * 128 6,480
S ()1 DA
90 * 3,500KN * 1HL * 128 3,780
~M B (2) 11D
11520 * 1,500KWH * 1§ * 12 2,070
OBIHYY MRS 947
OPIEX-E 431
SFSHE 9108 + 15K+ DA + 128 164
SR NY
55508 * 4K * 1§ 4 * 12 267
onza3 516
~FSHE 938 « 200KW * A + 128 224
SRR NY
81&  300KW = 1A « 123 292
OTHSTHAl e HAl 532
04832 26,0008 » 20} * 13l 52
OUHSS(8.58)  120,0008 » 10§ » 13l 120
O Z(158) 180,000 * 2Cf * 13l 360
CEEPIEEEIeR) 1,080
04832 80,0008 » 20} * 23] 320
OS2 (58) 190,000% * 1CH * 23] 380
OUSI2S(8.58)  190,0008 » 10§ * 23l 380
oNTEHE (MY, ZE) 1,680
04283 340,000% * 204 * 13] 680
OB 2 (58) 500,000% * 104 * 13] 500
OUSS(8.58)  500,0008 » 10§ » 13l 500
CELTIIEET- 2,000
o247l 2 43 400,008 * 504 * 12] 2,000
OXE U BHU AA 248 483
O 60,0008 » 4CH * 13l 240
OLET:] 48,5002 * 504 * 12] 243
OFHI R 1,3772 « 2,0002/Ef * 128 33,048
O X2 i Bt 18,400
Ot et 4,300,000 * 4T 17,200




2N BESL BABD
2

M HIISES NEctsE &Ed ANE2Y
& =20 Syot= HII2 MelAld (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O (X2Y HIE)
100,000& = 104 » 12& 1,200
O =2l el 50,000& = 504 250
ORESAHI (WSS E CCTV)
200,000& = 12& 2,400
203 YR =2t 2,000 2,000 0
03 AIMZFAH S =AY 2,000 2,000 0
OHYI= HEH HR2FX 2,000,000& 2,000
206 M= Hl 80,314 104,228 223,914
01 =8l 80,314 104,228 A 23,914
OMEZE & FHOS YAAZ 53,970
OHA AZEHM(MHE ZL)
2,500& = 20L » 108 » 9& 4,500
OHA SHAHI (IR ¥ & XH)
3,500& * 20L » 208 * 6 8,400
OLAMESH(MHEE & A XH)
22,000& = 1L » 108 * 68 1,320
OZAEZ FHOS HESLAAZ (0
E) 2,500 * 2,7000t7 * 504 33,750
OZMIES ZE2EY LAAZ(HAS)
2,500 * 80JH A * 304 6,000
O=&EE =st=M 13,000& * 100m 1,300
ORTM=E (=T AAME)
1,700& = 5000 = 43| 340
O&F&E=+ 01822 E4E 111 3,704
Of2E A dE 100A 357,060& = 504 1,786
Ot 2& A & Z 150A 383,570& = 504 1,918
O & 29228 4248 M
5,000,000& = 13l 5,000
OF = Rr gl 8,000
OM=HM &« a=H 18,0008 * 3004 5,400
OZ2 M8 && S 20,0002 * 30 600
OZ2E2+¢ 2,000& = 2502 = 43| 2,000
OXSLE(MEHY 22 HMEHAE)
4003 = 20,000kg 8,000
401 AIEHIZ 28I 189,900 809, 355 A 619,455
01 A& Hl 189,900 805,890 A 615,990
OSEHMEHE =2 FUHI3A 27,000,000& 27,000
OSZME & CCTV &X 12,300,000 = 3K 36,900
OZSMEE AMEFXE =4l 90,000, 000& 90,000
OZ=ZHl =4l 31,000
OsJ1gx 2,500,000& =« 20H 5,000
O=24D| 5,000,000& =« 1CH 5,000
O=2&X 21,000,000& =« 1CH 21,000




Y. B9 (3H) - HEAMY - BES o AF o San H D2
O&FsE+ N8Xx =4 5,000,000& * 1CH 5,000
283 HdEAE 22 1,440,670 857,325 583,345
201 et A H| 39,400 12,400 27,000
02 =329l 39,400 12,400 27,000
ONMEEHEANLE 28 2322 A& 11,400
Ot 22 200,000& * 123 2,400
OdIl 23 4,500,000& * 23] 9,000
OHJIZEHEREZ 28,000,000& * 13 28,000
307 212t01 & 1,241,070 624,000 617,070
05 A2t E = 1,241,070 624,000 617,070
onNggs 282 Al 97,000& * 1,900& 184,300
oMEEssE &2 Hel 179,000& * 4,470 800,130
OMESHEALE e 2HH X
64,000& * 4,010 256,640
401 Al HIL 201 160,200 199,425 N 39,225
01 A& HI 160,200 198,000 A 37,800
ONMEESHEE RAE+H| 100,000, 000& 100,000
oxEs 28I 3 ¥ olH B
14,000,000& 14,000
oMEsdgd A4 0l E 46,200, 000& 46,200
ASFHIS ANESFAE 24 7,240,038 9,887,324 N2 ,647,286
307 QI2t0| ™ 6,599,988 9,503,770 N 2,903,782
05 A2t E 2 6,599,988 9,508,770 N 2,903,782
OSAEZHIIZE XNIASAIE 2EHI
291,666,000& = 12& 3,499,992
ORIILHIIE HUHXISAIE 2ZHI
258,333,000 = 12& 3,099,996
401 AIEHIL 20| 640,050 280,002 360,048
01 Al& Bl 640,050 278,000 362,050
OBAMESRHIIZE NIASAIE FAEH
138,000, 000& 138,000
OSAMZFRHIIE XNIASAIE EHWED WH 463,050
O 3 Att] 450,000,000& 450,000
O& A& AHI 450,000,000& * 2.9% 13,050
ORIHHIIZE HUXISAIE HM3sI| £&D|
= 39,000,000& 39,000
HEANUH X ElE 22 90,980 100,580 A9,600
201 LEt2 Y| 18,000 19,500 A 1,500
02 332494l 18,000 19,500 A 1,500
OrEBHNUKNES HIL=
1,500,000& * 1A = 128 18,000
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206 M= Hl 22,980 31, A 8,100
01 M= 4l 22,980 31, A 8,100
OZSZUUXES S=SALE 222 22,980
OALB24d N H 15,580, 000& 15,580
OpH HZDI 1,100,000& * 1CH 1,100
O&TA = 2,000,000& = 20H 4,000
O=g&gXZ oIty 2,300,000& * 1CH 2,300
401 A& HIZ 201 I 50,000 50, 0
01 A& HI 50,000 50, 0
OXESZUUXES SHI2AIE 2=t
50,000,000& 50,000
ANEEAH 22 668,265 650, 17,337
AAAAE FUXNIEAM 2SN 328,753 302, 25,885
301 LEd = 328,753 302, 25,885
12 JIEBHE4 = 328,753 302, 25,885
OHFA FAAAANM FULARY 49 U
fE= s 326,353
O22AE FOZARY 49 295, 194
-2AN2Y 2R4+Y
130,260 = 5% = 222 = 12& 171,944
—ZARE FL2RE
130,260& » 150% = 5% = 13 12,701
“ZANRY FHEEIRSEINSE
130,260& * 5H » 64 41,684
—ZARE AAAZEFE
16,2803 = 150% = 5% = 47Al2t = 128 68,865
C42E RE2 31,159
=23z 295,194,000& * 4.5% 13,284
2ALEE 295,194,000& * 3.23% 9,535
B3I eeLEE 9,535,000& * 8.51% 812
-1ESE 295,194,000& * 1.5% 4,428
-MHEE 295,194,000& * 1.05% 3,100
OFFHZALAANEL FHOIS FUAL IS
2 AtHl 300,000& = 8H 2,400
ZAMYY FANVEAH SYXL 339,512 348,060 18,548
301 LEBAF 339,512 332,060 7,452
12 J|EtE& = 339,512 332,060 7,452
OF=T ZIME T FULANRY =& ¥ 7
g3 X2 337,422
OEE LA = 305,204
-HANRE 2EE
68,7203 = 11 * 22 = 128 199,563
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68,7203 * 11H » 64 48,379
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8,500&  150% » 11ZH * 25A12t = 12&8 42,521
O4H2E 23 32,218
-2z 305,204,000& * 4.5% 13,735
-AH2AEE 305,204,000& * 3.23% 9,859
-H3IIRLEE 9,859,000& * 8.51% 840
-N22d 305,204,000& * 1.5% 4,579
-MHEE 305,204,000& * 1.05% 3,205
OFZARI I=4l 190,000 * 11H 2,090
HY2IZH (sHZ2Ael2s A 22n) 559,951 550,227 9,724
ol 2dH| 501,526 492,230 9,296
ol Al 501,526 492,230 9,296
101 @124 dl 501,526 492,230 9,296
03 RIHAZ 2N E =+ 501,526 492,230 9,296
ogzacld A2y 451,635
OJdles 205,660
-28¢ 0l&F ~ 294 0O gt
2,595,300& » 3% » 128 93,431
-17¢ 014 ~ 184 Ol 9
2,338,100& » 4% » 128 112,229
Oz 67,628
Il =g 1,454,250 « 7Y x 43 * 50% 20,360
-2 ==g 1,454,250 *« 7 * 23] * 50% 10,180
M= e
1,454 ,250& » 78 » 63 * 50% 30,540
-“HuANS 2,494 ,430& « 79 * 37.5% 6,548
OFSL = 100,555
-S4 AR 2
90,000& = 7& = 128 7,560
-y s 70,000& = 7H = 128 5,880
Rt = P =] 130,000& = 7H = 12& 10,920
= 100,000& = 7H = 12& 8,400
-AHESHE X+ 400,0008 * 1H x 43| 1,600
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157,605& » 7H » 5% » 128 66,195
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O=gg= 453,290,640 * 4.5% 20,399
OHL=EE 453,290,6403 * 3.23% 14,642
OFILEE 14,142,930& = 8.51% 1,204
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OMTHEH 45,329,064 = 1.05% 476
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oxg= 90,000& * 7% = 63 3,780
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Ootd 3t 60,000& = 798 = 23] 840
oot 15,0003 = 728 « 23] 210
O&3t 15,000& = 798 = 23] 210
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(OFg==E )l 15,000& = 798 « 23] 210
osZzeld LTS 210
Ost@2e|d S22 g ESHI(401)
0,000& = 798 * 13 210
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500,000& = 14 = 95% 6,650
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8,000& » 14% « 8% » 12&  95% 10,215
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OosdX 15,000& = 1JHAb = 128 = 95% 171
OXI& X 13,000& = 5IHAL = 128 = 95% 741
OFUNIIZSBHAHS HHLY
100,000& = 6Y * 43 » 95% 2,280
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600,000& = 1JH * 95% 570
OF==J|l &XE 53,0008 ~ 104 ~ 128 * 95% 605
OMEd ¢ 60,000& = 1€ = 120 7,200
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202 o4l 25,536 26,880 N 1,344
01 2L HI 25,536 26,880 N 1,344
O=2WHAdl (21=Fdl)
20,000€ * 14% x 82 * 128 » 95% 25,536
203 €2 F=&d| 3,600 3,600 0
04 EASHEIRFEH| 3,600 3,600 0
©J|Z= M (20021 0]56}) 300,000& * 12& 3,600
HEess (a2 F 22 ) 4,996,556 4,355,694 640,862
WHEAHN XK= 4,996,556 4,355,694 640,862
LHEHCH K= 4,996,556 4,355,694 640,862
702 1282 4,996,556 4,355,694 640,862
oIS EE2 4,996,556 4,355,694 640,862
OZEHIISMMEHE FHASXSE =X D
= 3,395,000,000& 3,395,000
OHFH LAAAAL FHASIA =X
2 1,501,656,000& 1,501,656
OSASEHIISHEALE A0S &2
99,900,000 99,900




==
N & 0l &t
20209 = 20l A 2BEHG Y EtP AL 2R SHAFMY ~ A2

A

SN BFBRRS SHEFM
Mz Xlotg= 22l
e XKoot Es 22l (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %Eﬁ HRE2
stHF2A 22 ot=FH A 13,002,252 13,250,347 A 248,095
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KXot AIEE2 22 13,400 26,823 N 13,423
201 2Et2Hy| 13,400 16,823 N3,423
01 AP 2t 2] H| 1,197 4,620 AN 3,423
OXsdt0ls8Ed=2 24 1LXAM
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02 22| 12,203 12,203 0
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122,030,000& = 10% 12,203
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ol =2dH| 18,084 18,924 A 840
Jl2 &4l 18,084 18,924 A 840
201 B9 7,228 7,608 A 380
01 AP 22| H| 7,228 7,608 A 380
OJl2gLssAd| 500,000& * 6% * 95% 2,850
o3I (J1=&Hl)
8,000& * 6% » 82 » 12& * 95% 4,378
202 044 8,756 9,216 AN 460
01 2L Hl 8,756 9,216 AN 460
O=2WHAdl (21=Fdl)
20,000 = 6H » 8 x 12&€ * 80% * 95% 8,756
203 € R F=&d| 2,100 2,100 0
04 EASHEIRFEH| 2,100 2,100 0
OBAN2HEAR2=XH| (102! 0ladt)
175,000 * 12& 2,100
MERes(stF2e =22 o=z 12,970,768 13,204,600 A 233,832
HWEHHXNES(SHHAASI=HelE2Y) 11,400,000 11,400,000 0
SHOUASHE=XHe AR2Y BN 2 11,400,000 11,400,000 0
701 JIEISI HSHES 11,400,000 11,400,000 0
02 B EEFHIAMNEEZS 11,400,000 11,400,000 0
OgHHAGtE XN &2 11,400,000, 000 11,400,000
WEAHAXI= 1,570,768 1,804,600 N 233,832
JIEISEIAHEE= 1,570,768 1,804,600 N 233,832
701 JIEIS HSHE2 1,570,768 1,804,600 N 233,832
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